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-/ Algebra 1 Name:
/ Unit 4 Review Guide Date:
Exponential Functions Unit Review
Skilt Things to Examples
remember
1. Determine if | Exponential a. Tell if the following are exponential b. Determine if the equations ar
representations | Functions: decay, growth, refelcted decay, or reflected | linear or exponential:
are -Yariable in gowth 3 . \
expenential. exponent ; : ay=3-4 WWHEV\%"@"‘
Explain why or | -Constant Ratios . :
why not -Graph is a curve b.y=2x-3 leuﬁﬁf

Linear Functions:
-Constant
differences
-Graph is aline -
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2. Determine if
a functionis
exponential
growth or
decay and
explain why.
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3. Graph an
exponeniiai
function.

y = ab*

Create g table

with values and
graph.

Remember to
represent the
osympitote as a

a. Graph: f(x)= G‘)—I

b. Graph: f(x)=32"

dotted line.
21
4. Describe F(x) = a(by™ + & | O Given the funCfion b. Given the function
the . f{x) = 2x write a new equation g{x] = 2, write g new equation
fransformations rot after a transformation of left 7 after a fransformation of right 9
of an a siretches or and up 3. and reflect across the x-xis.
exponential shrinks AND
fUﬂCﬁOﬁ. reflects
e -
k moves the f[y;} X -] (@ ) x =9
function up [+ 3 -
and down |-) -
h moves the
function left {+)
and right (-}
c. Describe the fransformation d. Describe the fransformation
The new

asymptote is the
liney=k.

hix} =

- stretch of 4
LetA A
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10 fo k(x) = 4{10)x+ 1 =5,

from a(x) fo b(x).




5. Defermine
characteristics
of exponential
functions.
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Domcun (- 60j

Range: (C' ‘ @5\)

x-Intercept; Nowné

y-intercept: (g, N
Inferval of Increase: NovL

Interval of Decregse: C- y}%

Asymptote: W=
End Behavior:

asx—s—w flx) > &

asx — oo, f{x) - o

ROC over interval -2 1o -
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Domain: (' ", Wg\ |
Range: {Z, (,aj

x-Intercept: \ond.
y-in’rercep’r: (Osl;\) 7 :

Inferval of Increase: /[~ ,ﬂ\:; ‘
Interval of Decrease: o
Asympiote: ‘j*"l—

End Behavior: |

a3 X — —og, f(x)‘—a L—-—‘_ ‘
asx — o, fix) » &2 |

ROC over intervat -1 to O
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6. Determine
the y-intercept
and asympiofe
from an
equation

You can always
substitute O in for
x to find a y-
infercept

Asymptote.y =k

No k' volué, the -

asymptoteisy =
0.

a. DeTermfne the y-intercept and
asymptote of the functiony =
3{2}%.

Y=o (a%\{.m@h@
(0,B) Y&

(a\«vm\u&s

b. Determine the y-intercept an'
asymptote of the function

y = 4)x-2

Y-
(0.2)

| 7. Determine

the
growth/decay
factor and
Rate.

(1.+r)and (1 -7)
represent the
growth and
decay factors

a. y = 3(1.25)%

Determine if the function is
growth or decay:

3mw1+~

Factor: \ ‘ 15"

v =S

V= 2T

b. y=2(.84)

Determine if the function is
growth or decay:

hecons

Factor:
T

Rate: \’_\(:“WQ\
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8. y=p(l+7r)t a. Luke Duke deposits $2000 into | b. The value of the Barbie Dreq
Applications of a bank account that pays 5% House is $125,000. This house is |
exponential y=pd-nr)t ‘inferest compounded monthly. a prime location and
functions. Find the balance in the account | appréciates (ingregsesin value!
A=p (1 +1)”t_ after 4 years, at arate of 7% . How
n much will the Barbie Dream
Equation: S \Z. ﬁ House be worth in 5 years?
76[ = 2000 (/l + Q ‘Equahon
- @
C \\ﬁsrzs, 0@0(’1+«0'D
Solution: So!uhon
$2441.19 $175,26:97
c. A certain radioactive element d. Michael is offered two jobs~
decays at a rate of 21% per Job A, which offers him a startin,
month. If the starfing amount salary of $20,000 a year with a 5/
was 32 ounces, how much will raise each year he works there
be left affer 1 year? =7 w4, | and Job B, which offers him o
. starting salary of $25,000, but on
Equation: - ( '}"7 a 3% raise each year. Michael
W= -y plans o work to work at the job
J _ for 7 years. Which job shouid he
: 2 1% | pick and why?e
=22 (-0 |7 G
J Y =7\ ) |
Solution: | Jﬂb A @
|, &9 ounceS Q
4=, 000(\%'.0% yersais @
d2eHz 2 $ 2014l
| | - Y i
9. Solving’ » Must have o 53 _px? o T =9¥
_Exponential SAME base L= fo &
Functions e Set exponents 2yt =¥~ 4 3 é )x
= {don't forget
to distribute) )C 5
o Solve for x 7N =
. 43)( =8x+i .I 8
ax+8 1 1
(2 e Zgyﬂ . (‘J %1
- | é?— WD = (i’b ‘
-_ b= 2x+%
| Xty = —zwrzso




1¢. Geomeliic Sequences

Geometric Explicit
=1
Formulat: a, =a, ()

Geomettic Recursive
Formula a,, = a,_,(r)

| c.-81,27,-9,3,-1 -4
Explicit formula: an = _6‘ (/‘7))(\

Tell if the following is Geometric or Arithmetic

a.8521. Anthreehl d=-2%
b.2.6.18.54..  (oeorneliC =2

Create an Explicit formula and then use it to find a
certain term. :

3
o 0= -8\ () H117
d. ‘4, 12,36, 108....

Expicitfomula: = 1 (;)vx'_\

o o, (D]

Joe sells coffee at his work place and has recorded
his weekly sales below.

week Salles - % LWi%
] 50, 30
2 62,10
3 - 76.67

| -
an = 50,50 (\i?/’é)b

If the same trend continues, how much will he "

make in week 72 a“‘%()"l%

Explicit formula:




